3.1 Plot the time history of acceleration and determine:

(a) The peak acceleration.
(b) The sustained maximum acceleration (3rd cycle and 5th cycle).

(c) The bracketed duration.
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3.2 Integrate the time history of acceleration to produce time histories of velocity and displace-
ment. Plot the time histories of velocity and displacement and determine the peak velocity and
peak displacement.
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3.3 Compute and plot the Fourier amplitude spectrum of the strong motion record.

Plot of EAS (druncated belows Nyquist Frequevcy for beber v'\:ﬁb'\\{-\y =t
lews ?vu‘ug»\o., R%\"\A) 13 s\rewsn Lbelaws:
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3.4 Determine the predominant period of the strong motion record.
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3.5 Compute the rms acceleration for the strong motion record.

RMS acceleyeiev
= 3
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